Division par Puissances de Dix (B)

Trouvez chaque quotient.

8,35+ 10 = 8,1+ 100 =
6,914 =~ 100 = 7,2646 + 1 000 =
9,386 +~ 10 = 3,2+100 =

2,7 +10= 9,1983 =~ 10 =
1,6 =1000 = 55-+100 =

8,06 ~ 10 = 557+1000=
6,5+ 10 = 9,1178 +~ 1 000 =
7,6138 =1 000 = 7,1 +-1000=
8,8793 +- 10 = 5,768 ~ 10 =

1,8 +-100 = 8,34 - 1000 =
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Division par Puissances de Dix (B) Solutions

Trouvez chaque quotient.

8,35+ 10=0,835

6,914 = 100 =0,06914

9,386 +~ 10 =0,9386

2,7+10=0,27

1,6 =-1000=0,0016

8,06 =~ 10 = 0,806

6,5+ 10 =0,65

7,6138 +~1000=0,0076138

8,8793 +~10=0,88793

1,8 +-100=0,018

8,1 +100=0,081

7,2646 =~ 1000 =0,0072646

3,2+100=0,032

9,1983 +10=0,91983

55+ 100=0,055

557 +1000=0,00557

9,1178 -1 000 =0,0091178

7,1+-1000=0,0071

5,768 ~10= 10,5768

8,34 +1000=0,00834
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